 
Cindy: Compound Inequality
 

Teacher:
So 10 is less than or equal to X is less than or equal to 3.  Okay.  Setting up our number line, is this a correct line?
Student:
No.

Student:
No.

Teacher:
No.  Why not, Student A?

Student:
‘Cause the 10 can’t be bigger than the three.

Teacher:
Right.  So we need to – just because our numbers are flip-flopped in the inequality doesn’t mean that we set our number line up wrong.  We still need to set the number line up where 3 belongs and where 10 belongs.  Okay?  Alright.  


Let’s take a look at this piece and I’m gonna take the time to rewrite this over here and I have greater than or equal to 10, okay.  So which way – is that an open or closed circle?

Student:
Closed.

Teacher:
Closed.  And in which direction – now X is greater than 10. Towards the 3 or away from the 3?  

Student:
Away from the 3.

Teacher:
Away from the 3.  You’re telling me 3 is greater than 10?

Student:
No.

Teacher:
No.  Alright.  Let’s look at the blue side.  X is less than or equal to 3.  Is that an open or closed circle?

Student:
Closed.

Teacher:
Closed.  Do I go towards the 10 or away from the 10?

Student:
Away.

Teacher:
Away from the 10.  Daddy, I’m not getting everything I want.  Where am I happy?  Where do I get both?
Student:
Nowhere.

Teacher:
I don’t get both anywhere.  That – where do these two inequalities overlap?

Student:
Nowhere.

Teacher:
So is Student B a happy girl or is she a very upset girl?

Student:
Upset.

Teacher:
She’s very upset.

Student:
She’s stomping her foot.

Teacher:
She is stomping her foot.  She doesn’t like this, okay.  So can you please tell me where – can you give me a number where X’s are greater than 10 and at the same time less than 3?

Student:
[Inaudible].
Teacher:
Is there any number where this could happen?

Student:
No.

Teacher:
You can’t give me a number that’s greater than 10 and less than 3. 
Okay.  So this is actually impossible.  You cannot have a number both greater than 10 and less than 3 and that is why it’s so important not to just go, oh, it’s an “and”, it’s a dumbbell and make the dumbbell right away ‘cause if you had dumbbelled this, you would have been wrong.

Student:
That’s what I did.
Teacher:
Okay.  That’s what you did?

Student:
Yes.

Teacher:
And you know what?  That’s a very common mistake, but that’s why I wanted to throw one in like this on you to make sure you know you need to look at it and make sure that it is possible and in this case, it is impossible.
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